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8.0°10° 1.0-10* 1.2.10* 1.4+10* 1.6¢10*
Wavelength (A)
Object 161 J,,,= H,,,=23.93
8.0:10° 1.0+10% 1.2.10% 1.4+10% 1.6+10%
Wavelength (A)
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Wavelength (A)
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Wavelength (A)
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8.0:10° 1.0+10% 1.2.10% 1.4+10% 1.6+10%
Wavelength (A)
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8.0°10° 1.0-10* 1.2.10* 1.4¢10* 1.6¢10*
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8.0¢10° 1.0+10* 1.2¢10% 1.4¢10* 1.6¢10*
Wavelength (A)
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Wavelength (A)
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Wavelength (A)
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8.0:10° 1.0+10% 1.2.10% 1.4+10% 1.6+10%
Wavelength (A)
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Wavelength (A)
Object 176 J,,,= H,,,=24.15
8.0:10° 1.0+10% 1.2.10% 1.4+10% 1.6+10%
Wavelength (A)
8.0°10° 1.0-10* 1.2.10* 1.4¢10* 1.6¢10*
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8.0¢10° 1.0+10* 1.2¢10% 1.4¢10* 1.6¢10*
Wavelength (A)
Object 179 J,;,.= H,,=24.28
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Wavelength (A)
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8.0°10° 1.0-10* 1.2.10* 1.4+10* 1.6¢10*
Wavelength (A)
Object 185 J,,,= H,,,=24.34
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8.0:10° 1.0+10% 1.2.10% 1.4+10% 1.6+10%
Wavelength (A)
Object 186 J,;,= H,,,=24.36
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8.0°10° 1.0-10* 1.2.10* 1.4+10* 1.6¢10*
Wavelength (A)
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Wavelength (A)

8.0°10° 1.0-10* 1.2.10* 1.4+10* 1.6¢10*
Wavelength (A)
Object 191 J,,,= H,,,=24.48
8.0:10° 1.0+10% 1.2.10% 1.4+10% 1.6+10%
Wavelength (A)
Object 192 J,,,= H 4,,=24.48
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| 8.0¢10° | | 1.0+10* - 1.2¢10% "' 1.4¢10* "' 1.6¢10*
Wavelength (A)
Object 194 J,,,= H,,,=24.49
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Wavelength (A)
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Wavelength (A)
Object 197 J,,= H,,,=24.52
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Wavelength (A)
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Wavelength (A)
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